
Quest ce que le cadeau  J' - ? ( )Quel nombre se trouve dans chaque cadeau?
12 × 4 = 3 × 6 = 10 × 6 =7 × 10 = 3 × 2 = 10 × 12 =2 × 6 = 4 × 12 = 10 × 4 =12 × 2 = 4 × 6 = 11 × 4 =10 × 10 = 7 × 8 = 2 × 4 =9 × = 99 10 × = 50 6 × = 1810 × = 50 5 × = 15 4 × = 326 × = 54 10 × = 50 2 × = 66 × = 36 7 × = 42 12 × = 966 × = 24 8 × = 88 3 × = 12× 12 = 120 × 5 = 60 × 12 = 132× 6 = 72 × 2 = 10 × 9 = 108× 7 = 77 × 9 = 54 × 12 = 84× 9 = 99 × 2 = 16 × 10 = 40× 4 = 24 × 11 = 99 × 9 = 27
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Quest ce que le cadeau  J  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
12 × 4 = 48 3 × 6 = 18 10 × 6 = 607 × 10 = 70 3 × 2 = 6 10 × 12 = 1202 × 6 = 12 4 × 12 = 48 10 × 4 = 4012 × 2 = 24 4 × 6 = 24 11 × 4 = 4410 × 10 = 100 7 × 8 = 56 2 × 4 = 89 × 11 = 99 10 × 5 = 50 6 × 3 = 1810 × 5 = 50 5 × 3 = 15 4 × 8 = 326 × 9 = 54 10 × 5 = 50 2 × 3 = 66 × 6 = 36 7 × 6 = 42 12 × 8 = 966 × 4 = 24 8 × 11 = 88 3 × 4 = 1210 × 12 = 120 12 × 5 = 60 11 × 12 = 13212 × 6 = 72 5 × 2 = 10 12 × 9 = 10811 × 7 = 77 6 × 9 = 54 7 × 12 = 8411 × 9 = 99 8 × 2 = 16 4 × 10 = 406 × 4 = 24 9 × 11 = 99 3 × 9 = 27
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